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1.

THAHD P B F2 Gt A fFPaA voR &
ey fFAffa 8 @2

(A)3 (B) 2

(D) 4 @9

o9 iga ® siftredy AT & S T
ST 82

() forgferra (B) TRIITSC

(©) ferrsge (D) e

ISR A IU-IWGfed g ugrst a4 | urg
ST qTat g&ii &1 99 Diford

(A) 3MTH, 1H (B) YT, TAT
(C)@\_ﬂ@ﬁa? (D) R, IR, BT

WWW( Bamboo forest) ISR &

fafafead A fPa R A uwrarsmar g 2 A

¥ ¥ 99 Iuga fawed g1

(A) T2 (8)

(OCIBEIS (D) SBIR

o STAWITd ST & Aafaied § |

e & o erafRya 3 2 e # 9 wed Suga

e g1

(A) Eféror gdf Usry &=

(B) UfaH FeRici AR &=

(C) &t T &=

(D) 3RTIE &=

YRA & Fd YUTT BT fora=1 ufa=rd HRT

%mﬁﬁ% ? Fg & ¥ a9 Suge faee
|

(A) 10.4% (B) 12.4%

(€) 7.3% (D) 13.3%

JAoigs, HEIMHL 3R TaHl ueifa & Us

fFrgfafaa # 9 f59 9= &2 & e 9a &2

e o @ Te9 Suge faser g1

(AT

(B) AT 3R gargall

(C) UG eI HaTaeR

(D) SUTHCHLNT HicgR

3T 9l FrgeR Rived & fafis daesl &

A Hifad dRY ST ITURT HIh RIFTRA

o SiTaT 8 3 PeT S 8:

SER) (B)a

(C) Ty (D) TAITE

Waﬁﬁﬁaﬁ@aﬁﬁﬁqm

SIS P TR & TSR UM HIaT &2

(A) Wl §R (B) g dcq

(C) X3S TR (D) ¢§ &I

10

11.

12.

13.

14.

15.

16.

fFrafafad 7 @ 19 teld &1 haR= T8l 82
(A) THUTSH] ( (B) TSI ()

(C) DPI3C () (D)- GHSIIRUA ()
FIaf® AIH] B Fad sifad sl S g
T 4T &1 oar 8 3R 399! wan=mar §
P fafer gRT dxafta 8 foar o a&ar
| 9% FgmdT g:-

(A) Va-Rfdd RiGid  (B) TTSgIdIed Rigid
() forara Rl (D) STeR Rigia
GHt-1 o1 -1 & gAfea s

T -1 @ -1 (&)
a. A1 i. 3Ca

b. Xf8 II. BeT

c. HATSC 3Mg 1. S

d. a1 <4t Iv. RRE
%ﬁqwﬁm’rﬁﬁﬁwmw

(A) a-1,b-1I, c - IV, d - Il

(B) a-Il, b-l, ¢ - IV, d - I

(C) a-il, bill, c-1,d - IV

(D) a-1V, b-lll, ¢ - I, d-Ii

TS YT & fobved U-1g J1a® & FU H 3|

TS BIYPT T TS i 2.88 O%Hm

T PTUAC 7.2gm/cm’ B 1oosrm%n§ﬁ
THS DIYDISA DI TSI T 72

(A) 2x10% (B) 3x10%°

(C) 6x10% (D) 5x10°®

Fraffed arel # sy o 8-
GOEEREEC]

(B) S=T | o ST H &7 T

(C) SfTUehT U et

(D) 98 R 81 T

Choose the most appropriate English
translation of the given sentence 3H®T
AT fpam faran &2

(A) He is insulted by whom?

(B) Has he been insulted?

(C) Who has insulted him?

(D) What has he been insulted by?

Choose the most appropriate reported
form of the given sentence: "Do you realize
that the shoes you are wearing aren't a
pair?”, | asked.

(A) | asked him if he realize that his shoes were
not a pair.
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17.

18.

19.

20.

21.

22.

23.

(B) | asked him if he realized that the shoes he
was wearing weren't a pair.
(C) | asked that was he aware that his shoes
aren't a pair?
(D) I told him that his shoes aren't a pair.
Choose the most appropriate option to fill
in the blank: "Is dad in?"
"No, he isn't. He_____ home an hour ago.
He yet.”
(A) Leaves, didn't return
(B) Will have, has not returned
(C) Leave, not returned
(D) Left, has not returned
Frafafea & @ @19 91 uda Rrer ura o
@

(A) A< AU (B) HIS< HHC
(C) AIST YA (D) HI3<
eR, e Udd , yzruifedt , ¥ g
AT YR & P 3 @ few a7
Y3repfa faiwane € 2
(A) HRd &1 UgIUI-I SR
(B)HRd & I} A
(C) HRAT AR
(D) YR giu ¥4g
Frafafaa 4 3 53 IeI™ & IsauTd g1
frgaa 181 fpan oiman 82 Fufafe & 9 99
g fawed g
(A) IT fayfa=Irerd & pedid
(B)ﬁW%g@:Wsﬁm
(C) Iy
(D) waﬁa&@m STANT o L&
HRA & HAUH & 3rIwde 323 & dgd, Id
Wi AT 3TN BT HuA 3 P I8 ufday
TN gIRT fHT¢ 1 w1 & IR | [
gfade IRgd $<?
(A) faerTaT

TR R $1Ivd fAor 8: fFafafad @ aad
Gtrgvﬁﬁwqiﬁ L

(A) 1sgUTe] hTUlTd (B) J:L@—H—DII ODIHIQ'M
(C)Il_?ﬁ (D) {-NOhNI Hlddlﬂq
TR & &I Ifd ( 05 Riaway 2024 &t
PTA?

(A) HIY <5
(C) I AR

(B) QU= ud
(D) SITGI=T |

24.

25

26.

27. .

28.

29.

30.

31.

3 BIE BRI P | U A 5 37 3k e
¥ 9 fo 3iftr Tug dar 81 3 3R Ug
ST PR B FAATHA & IHH
U Ad §1 39 BT B R B H b
3 fpaq faq &1 Iwg v

(A)20 ( B) 25

Q)5 (B) 15

S 3% 5% MR 7% Ufdad HI e A
TTYRYT TS BT I S-S T-aieT-r3f A
$d 27,100 FT1 a1 fHa1 TH ad & si@ o
I N FiErei § A e e 5% w®

fraw &Y 1€ Y= = @2
(A) 32,100 (B) % 1,500
(C) 3,500 (D) % 2,500

1028v16 +512 BT 25%- 75 mgmmﬂ%:-
(A) 4,180
(B) 5,900
(C) 4,700
(D) 4,910
SR T aren aafed 9+ @ Yo ugur
Y APl g, TdfP SR I qrer afad
Tt ® 79 S Ihar gl
(A) ShHRT: AB+; 0- (B) hHRT: AB+; 0+
(C) SHHR: O+ AB+ (D) SHHST: 0-: AB +

TP Siax fhdl a%g UR TR 50%, 10%
3R 20% Dt 9 e a1 8| ThHa THTH

B R fpat @2
(A) 69% (B) 72%
(C) 60% (D) 64%
39 SHfaIRaey BT FHIHRU T § o
TS BT AT 8 Tl JUbwdl = ?
(A) %-§=| (B) %-'_(;.
©) :i'%“ ®» 5%
[c]
0T ¥+ Rig 1 Yo7 & ugTe Aars &7 HE
G KLl
(A) 70T fagpHTie (B) 30T 3R Rig
(C) ABRIUN UdTg (D) HERTUN S &g
Hifere firedh &1 day frg sarq 22
(A) gt (B) TG BT
(ORIEIF] (D) PIAS
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32.

33.

34.

35.

36.

37.

38.

aﬁﬁww%m%uuﬂwﬁ

B) &t AT IH

(C) &t =T IH (D) &Y 3raeR RKig
fadr, T F I 8 S e Bt U
o, e F e |, dRomies &
ghdld UTS & | AT 35/ 31 uell 81 Sfaar
M A P UpR Hafld 82 1

(A) T (B)uaﬁ

Q) HI (D)
uﬁwuﬁmaﬂm% Sfeor-gd S<R

9 1T @ SR X0 UP R HH Sqadl o 8

ot gd Far 9 e 2
(A) TR (B) Gf&ror
(C)3TR - Uldm (D) Gfaf0T - gd

TH 9 (FF) It TRE A 71 37 @ e
WA 8 SR a9 3 U SMPR & 64 B

BT ¥l (Fgal) A prer o gl o fraq
I (§9) g1 Rl T e & Ti
ghit?
(A) 24 (B) 26
(C) 20 (D) 22
a9 @ 98 =maT St 99 A1fd $ gUR |
wf‘ua%sﬁ'\rﬁ%a%ﬁm‘rwamnﬁaﬁ
(A) eI / ATZhIaTaarst
OEIRCIREAVASEIEG]
(@RIECICEIEFAY CINIE]
(D) Qo
o9 FI WY &1 fpdt fiue s9e A Hahvur
T ST ¢ 1 J HgArdl g.
(A) gehd HH T (B) faT®R THur
(C) Ttemed Gepvur (D) Ucig HpUT

Choose the word similar in meaning to the
underlined word: It is exasperating to daten
to the suggestions of my neighbour about
international affairs of which he knows
nothing.

(A) boring

(C) disappointing

(B) frustrating
(D) amusing

39 Choose the word similar in meaning to-

TENACIOUS
(A) resolute (B) malign
(©) timid (D) modest

40

41.

42.

43

44.

45

46

47

fFafafaa & ¥ 19 a1 Frger 1 v 39Ye
feaga di e

(A) STafe® (B) AlfeX

(C) gepalal (D) TS W R

Choose the most appropriate word to
complete the given sentence:

The City Centre Mall was crowded
____ tourists.

(A) from (B) with

(©) by (D) of

Choose the most appropriate word to
complete the given sentence:

A teetotaller is one who
abstains___alcohol.

(A) from (B) on

Q) in (D) with

IR § YT 9 aTd IRNU A6 BT
T B

(A) SITCHT SR (A1SCS SR)

(B) I=IS ,

(C) HRcia Tet @feae Uibfim)

(D) HR< fiRfe @fga= Haferam)
Frafefad # a9 siftre dst ¥ Wa-3rauea
i g 22

(A) 39 & o (B) 3T &I Aol
(C) 3TH & ol (D)3MH & ek
s fSrela Yo &) fafia SRR 9 &
aiffep fbar o1, % 8-

(A) BTd TSHITR (B) TSH-S fH1

©) =TS AR (D) S - afpe
Gt-1 &1 -1 & gAfa pifoe

ol -1 (A UG) -1 (FET)

a 3 IEY 1. TqeY

b. el .58

c. 3H Y d. ¥ator

1. ggAife IV. 3readftyTa

= feu e faweul # § Halfte Suged S<R
g :

(A) a-Il, b-lll, ¢ - IV, d - |

(B) a-IV, b-1ll, c - I, d - Il

(C) a-1,b-1V, ¢ - Ill, d- Il

(D) a-1ll, b-1, c-1l, d - IV

BT’ Ueg § UAY -

(A) 31 (B) 3M

©d (D) &
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48

49

50

51

52

53.

54

55

?fﬁn%aﬁ' ‘3T BT Y TgdTe! XMeg HIH-TT
(A)W (B) 3iY

9 G4 BT IAAI (T 1egs) 45° | 30°
ST 3 99 Y P BT 80 Hiex d& §31 71
(A) 40 (V3+T)m @)  (B) 80 (V3+1) m (HL)
(C) 40(V3-T)m @) ( d) 30(3+1)m ()
UH YRR P, Q R S P HH6:2:5:3%
U A fiaRa stedig1afe RPIsA=

2000 31f firerd € df Q &1 it fpar a2
(A) 22,500 (B) 3,000
(C) 1,000 (D) 2,000

HHA P UTH 200 <161 A1 | I/ 5% STt
I B, 15% STB 3 B R FA 1B DI
g1 AT MUTd &1 a1l 58 4 gica & 916

HAA P UTy fpda-l erwl a=ri

(A) 120 (B) 130

(C) 100 (D) 110

fafafad 9oft & years g ( 2) & ®RE
R T 3T

16, 33, 98, 197, 590, ?

(A) 1181 (B) 1281

(C) 981 (D) 1081

4 BTN 2009 & 18 30 2009 TP B Ay
¥ foIT 24,000 WR 6. Ufaad &t &3 T ATLUROT
TS JTd BT

(A) 50.00 (B) $90.00

(D) 75.50 (C) 337.50

fredt Frs T A life is good’ P 'ti ve su’
‘enjoy life’ P 'fs ti' 'character should be
good’ 3| 'nx, nu, bs su aﬁ@‘ﬁTqT\_rl'lﬂT%I
I €1 715 PIs WIWT H 'is’ & forT 1 BiS
(A) su (B) nu

O ti (D) ve

P, Q R, S, T, K 3k M 9t 3w fa=n &t oix
g P Hieht arg= A 93 € Aferd o=
Tigfrshi i su A e KTWRS
A $ad P AT 6T gl PTd S H A A
TR TIRMF TTA Paa QAR
81 P & 7 § 9idl 3R K 9571 § 3R P @Ts
Fdu A derg Fufrea i A s A G

wfe faepa PRI RIS 82
A K.M B)T, M
QR.Q D)S, T

56.

57

58

59

60

61

62.

(A)

(C)

63

Fafafag 7 3 5 aRasn J v\ &

JTfeandt gga &= | wifaeRt aRkad= sman

2 ? P A J 9o Suged fawe g

(A) IR IR §i¢ TR

(B) HTG! SoiTol IR §ie GRS

(C) HIGST ARTS Y GRS

(D) STaT8R R §i¢f GRS

g o q S9-I1 IO FTUYH R ¥HA

gmﬁ%?ﬁaﬁﬁmmﬁw
|

(A) DIFIST YHd UTR e

(B) HTE! SoiTol UMR el UTaR Wiie

()RR YHd TR WA

(D) STaTER IR GAfIoIal TR T

& U1 ®, KMnO4 &1 Jeidt UR § -

(A) % (26.33) (B) M (158.00)
Q) % (52.66) (D) %(31 60)

TS ASHI - GAIEUN BT 35 o ferar gl
39 a1 | 3 B-

(A) FHIR (8) %

(ORGES OES!
gl:aﬁr@?rﬁ" ' Yo 919 DI T
A) TISTHRATE | (B) STHT RR Worarar g |
(O SHEUSRIATEl (D) 98 TN & &

[log00(510g10100)]® T HI &:-
(A) (B) =

(oF (D) 1
11%23°=%?ﬁ1' sec 23° - sin 67 SR @ :

2

a (B) 22

[2_.2 bVb"-a
bNb*—a 2
_a 8) R+a
b% -a?

[b]
TP gAY & JUM &, B! fraen w3 s ©_Ra
T I 162 A 3R g IR H 81 3¢ Pt
rear va Rdsw 3t B &1 srgura w22
(A) 1:6 (B) 1:8
() 1:4 (D) 1:5
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64.

65

66

67.

68.

69.

70.

71.

v wreg &1 I - fade 2-

A fav | ®f3: + 71

© faTwm ) fawq
;ﬁa-m'WWWWJﬁﬁaﬁﬁ
(A) el - HIaT (B) - 3ffa=zm™
(C) 3l - T (D) Udd — ¥R
Frafafed & S &9 91 IeRIT ST IS g
?ﬁg’?wmmmaﬂ%wq&r
(A) AfgST (B) A

(ORCEE] (D) &3
wﬁaﬁfﬁahswswﬁﬁﬁvﬁﬁm
ifasigs ufmt (Rapwa) § a4 9 21
(A) HHT it

(B) h41T TR dF Ud WA 9y &Il
(OFEAISIECIE]

(D) SToF TY

Choose the most appropriate Hindi word
for the given word: REGULATION

) fafae (B) Ferd!

() Sif¥Trgur (D) GoTE
Complete the sentence given by choosing
the most appropriate word:

A person who admires/loves
himself/herself too much is a-
(A) Notice (B) Numismatist

(CO)Narcissist (D) Narcisus

Choose the word opposite in meaning to-
SUSCEPTIBLE

(A) predictable (B) unpredictable

(C) ingredible (D) immune

Choose the most appropriate options to fill
in the blanks:

___my friends are busy tonight.___of them
are writing an exam the next day, but of
them were still ready to party and so far ___
of them have confirmed.

(A)none, most, all, none

(B) All, most, some, none

(C) Some, some, some, all

(D) most, none, all, some

72

73

74

75

76.

Choose the most appropriate option to
complete the sentence:

The language of a circular is:

(A) objective (B) round about

(C) vague (D) emotional

Yiaa ts UTg @ :-

(A) foT 3R ds 3t

(B) W8T 3R fAdhd ot

(C) PR 3R b &

(D) BIR 3R feT &t

wig-Rifrer sy fAuer ot Suge

?ﬁo_-ﬂﬂ?%:-

(A) dsftha (B) GTAShUT

(C) Tt § fAge™ (D) STAITE ST

2011 B SRUAT & AR Fafaf@a d @

ISR & < fore & TreRar gv 999

e g 2

(A)ﬂ'vs (B)W
C) SHTR D) BIel

ﬂ%ﬁ%ﬂg‘c’ﬁ@%ﬁﬁﬁa‘mwﬁqw%

PUYT- 1 : devise I FRYT , SSAR S

:%%ﬁ?af&wﬁmaﬁvﬂmaﬁ’rﬁuﬁ

[

HY - 1l : g (STAR) P IURRUFT & FROT
g a1 fordt 81 Sudad U=l & 3melisd |
Qﬁgﬁﬁaﬁwﬁﬁﬁﬁwmw
(A) U 1 94 §, fog Fo 11 ST B

(B) Y 1 3 ©, fh=g HUT 1| T B

(C) BYT | 3R 11 T T & |

(D) YU | 3fR 11 S 3 & |

Read the passage and answer the questions
that follow by choosing the correct option. (Q.
77 to 81) Experts in climatology and other
scientists are becoming extremely concerned
about the changes to our' which are taking
place. Admittedly, climate changes have
occurred on our planet before. For example,
there have been several ice ages or glacial
periods. climat

These climatiq changes, however, were
different from the modern ones in that they
occurred gradually and, as f as we know,
naturally. The changes currently being
monitored are said to be the result not of
natural causes, but of human activity.
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77

Furthermore, the rate of change is becoming
alarmingly rapid. The major problem is that
the planet appears to be warming up.
According to some experts, this warming
process, known as global warming, is
occurring at a rate unprecedented in the last
10,000 years. The implications for the planet
are very serious. Rising global temperatures
could give rise to such ecological disasters as
extremely high increase in the incidence of
flooding and of droughts. These in turn could
have a harmful effect on agriculture. It is
thought that this unusual warming of the
Earth has been caused by so-called
greenhouse gases, such as carbon dioxide,
being emitted into the atmosphere by car
engines and modern industrial processes, for
example. Such gases not only addo the
pollution of the atmosphere, but also create a
greenhouse effect, by which the heat of the
sun is trapped. This leads to the warming up
of the planet.
Politicians are also concerned about climate
change and there are now regular 3
summits on the subject, attended by 1
representatives from around 180 of the
world's industrialized countries. Of these
summits, the most important one took place
in Kyoto in Japan in 1997. There it was
agreed that the most industrialized countries
would try to reduce the volume of
greenhouse gas emissions and were given
targets for this reduction of emissions.
It was also Suggested that more forests should
be planted to create so-called sinks to absorb
greenhouse gases. At least part of the
problem of rapid climate change has been
caused by too drastic deforestation.
Sadly, the targets are not being met. Even
more sadly, global warming about climate
changes are often still being regarded as
scaremongering.
Identify the correct statements
a. The ice ages or glacial periods are
examples of climate changes in the modern
times.

78.

79

80

b. In the past, climate changes occurred
gradually and naturally. Rising global
tempratures can cause more flooding and
droughts.

Greenhouse gases are given out by plants.
The climate changes today are dissimilar to
those of the past.

Choose the most appropriate answer from
the options given below:

(A) (b) a and d only.

(B) ¢, d and e only.

(C) b, cand e only.

(D) a, b and e only.

The greenhouse effect is caused when

(A) The gases like carbon-dioxide trap the heat
of the sun in the air

(B) The green coloured glass or mesh is used
to cover the plants

(C) The green trees form a canopy in the forest
(D) The roof is covered with green plants to
keep the building cool

Which of the following were not suggested
at the Kyoto summit?

a. Most industrialized countries would
reduce emissions. More forests should be
cut to create the so called sinks.

b. C. The automobile industry should roll
out electric vehicles.

d. Targets were set to reduce the volume of
greenhouse gas emissions. the rate rate of
industrialization should be contained.

e. Choose the most appropriate answer
from the options given below:

(A) ¢, d and exonly. (B) b, c and e only.

(C) a, and only. b, c and donly.

The implications of an unprecedented rate
of

(A) Ecological disaster

(B) Kyoto summit

(C) Flooding & draughts

(D) Global warming
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81

Match List-I with List-l|

List-1 (Words) List-1l (Meaning)

a. Unprecedented () i. Forests land, which absorbs

b. Implications

c. Sinks

carbon-dioxide from the air |

[Il. That which has never
happened before

iii. The deliberate spreading

of frightening rumours

d. Scare mongering 1V. Something that is suggested
Choose the most appropriate answer from the

82

83.

84.

85.

86.

87.

88.

options given below:
(A) a-Ill, IV, c-1l,d -1
(B) a-1V, b-lll, COII, d-I
(©) a-l, bll, c- 1, d=1V

(D) a-Il, b-IV, cd-Ill
wpfaw Yas Faffad 1 9ga® § :-

A) Faia (B) T

(Q) HAT-U4 (Buna-N) (D)
frafafaa & 3 fa IRy I yRd
dfaum & wrea ¥ i Az Rigialr &1
e foraT T 22

(A) 3TIRTS BT AU (B) J TH &1 W™
€ fofexr dfaum™ (D) HTS] BT TfaeT
ISR HFATIPR TART $1 Ugel afgar
e S A

(A) gfaHT aifed

(B) ATl HHRT

(C) HHAT I-ard

(D) HIdl YCATR

Frafifad § | I ST $19 91 87 Th
(A) SIOQR

(B) PIcT

(OEISLN

(D) SIHqR

ISIRYT PT B T WG URYTH & e
(R 3iT TR¥EH) & T | T ATaT 82
(A) SR (B) PIcT

(C) vidareT (D) BTR
ISR H U 351 fved & dgd U ay
H TSI 819 arell UTH HHT B SoH1 P
Hau G frat 8 7 3 @ a9 Sugea
fawen g

(A) 2 B)1

Q4 (D) 3
IR B 12 vganifg a1 o f5g &
B 3fpan 3 faar T &2

89.

90.

91.

92.

93.

94.

95. "

96.

(A) DY Td IrHior faemTy

(B) THIRIS 3R ATGII T

(C) ST

(D) TiaR

................................ oI ugd HIS HgT ST
T, fihR U¥arT iR 91¢ ¥ URaTs el 9+
- 9 ¥ 3 999 Sug fawe g |

(A) HRAR (B) TR

(A) SITSt faferad (B)GHTVTW%F[

(C) SifSt 3rseH fORfT (D) SISt fefep R
fPa YR B WA 3iid? ', Fledl M
REDR 2024 U §3T?

A g Ed gHT  (B) gaT ST

(C) 3fFgal it oRET
mﬁwwuwwﬁ%gaﬂm%
fere wfea afafa & sreaer #1482

(A) &t STRM AuTE

(B) &t et Id SToTuy

(C) & IHATY Pifde
(D)%ﬁﬁmwﬁl%'ﬁﬂ?

Wﬁrﬁrs' ﬁn;rﬁ

(A) GSHIRI §<R el
(B) YSHARY RII SIRIT

(C) ISHAR! ST

(D) USHARI 14 dHc!
Gt-1 1 -1 & gt i

T -1 (@RHad o) -1 (R )
a.4 11000

b.5 11 1001
c. 9 Il 0101
IV. 0100
ﬂ%%qwqﬁwq’rﬁﬁ%"rwgﬁrq
(A) a-Ill, b-1V, c-II, d- |
(8) a-Il, b-1ll, -1V, d-I
(©) a-IV, b-1l, c-1ll, d-I
(D) a-IV,b-Ill, c-II, d-I

2023 &1 fasiar
fra & Tafta &

H&ﬂuﬁmﬁuﬁwﬁ%gmmﬁﬁmmmmmﬁmawqﬁmmaﬁﬁ



‘ CET ANSWER KEY [22-10-2024 EVENING SHIFT]

97.

98.

99.

100.

101.

102.

103.

(A) e &t
(C) HIFT 3RraTd
. . T g |, fea s | Ra

(A) STBUTTSA T (B) AT

(C) PAlch (D) B

JeRTga ¢fa gfar oife B & g Arwifda
(A) fertsR o9 (B) H& I YUfd

(C) gob! U (D) BT ST

TR B Gas & Ao # Jad 3w HY
BT TG B

(A) ORISR GRId U SIS faumT
GRI P TS Jarg | THTHT 5000 8 TR Spid
TSI H TS |

(B) T8I gSWI ¥ dieT U foear Sirdm T

(C) TTUISR Tl bl Hpicl 1 Ueb HEYU! el B |
(D) OISR, 17 BT YT | SHeit Tel b Tid IR
LG SIRIES

PO ISR & fba T W fRT 82
(A) TIH TG (B) &t TR

(C) SAgR (D) HiehR

TO dsP TP Ufad & Su o2 1 3R g4
fPUgT @S &1 FHA TUBR A 343 W)
gt QA SMRA TR A 209 W 3R IfAg=H
P1 3Ifgl TR% 93 TITH WX WS &1 afe A,
S & T TR% g8 RIH W WS 8l al
Ufea o de®l @ powe gaid|

(A) 64 (B) 66

(C) 60 (D) 62

= & 9l TRE A T S 70 PO HaY B 8

F SRl TRP W T Hae TUTd B
TOYTI U1 AT B2 F R W DI AT
fapeu o w87

LANGUAGE: PCRIYCKG:: COMPUTER:?

(A) GOQRYVIT (B) GQQRYSIT

(C) GOMNYVIT (D) GQRRYVIT

e &t 715 s | Ayl ot w= gag:
- O

(A) 31 (B) 17

(C) 27 (D) 29

104.%@1ﬁ2x+y=4x-y+1=0Q3'x-3[&[ﬁ

105.

106.

107.

108.

100.

fftfa frys &1 erwa 2

(A) 4 T SHBTS (B) 5 I 3BTS

(©) 2 a gBTS (D) 3 T 318
& d PQ RS FIAGRST ,
2PQM = 80°3fR ~SMO = 25° ;dl ST A HT

g

e LY

P R
0

: VM

S

(A) 55° (B) 65°

(C) 50° (D) 60°

gfe fou T HY=i H TG AATEE |, Sdb
STH YT SHPRI & YR R frsrar
wdia g1t 81, o) el &7 sreaas &Y 3R
a9 fAoly & & o1 91 fear man Aoy
TR 39 | Ued Y| BT Ut BT g,
SY: IS MAP ST 81 2

PO =P rAUS B

PO AAUP BT B

AP 3IATIH BT

e

(1) $ TS SH &l
(ll)ﬂmﬁéﬂlﬁmﬁl

(A) T @ PN 1 31aT || T8 §

(B) &I fspe | T 11 e &

(C) o fhy 1 TEt §

(D) $ad Ay || 9S8 @

Frafafed 3 J oM@ & 9 @1 9ka
S A?

A) Ft P AUGUE  (B) & ST YT

() it &, ARTOr (D) oY 31gd =T
gy T gRT "I PRiae! fgaw ' 9
AT T

(A) 16 3T, 1947 (B) 20 31T, 1947

(C) 15 3T, 1945 (D) 16 31T, 1946
guTEA gor gt & fadfig ad 2023-24 ®
IR § Haffee feg 9oft & @ 811
(A) TBT (B) TP

oait ufaapit udtemsit eq Yeld cifi of eecidel g & el decayuf Uil of cTeeeie &c Higd



CET ANSWER KEY [22-10-2024 EVENING SHIFT]

110.

111.

112.

113.

114.

115.

116.

117.

118.

119.

120.

(@REUN (D) fRrg

1 ZB (Zettabyte) SRTeR &:

(A) 1024 KB (B) 1024 GB

(C) 1024 EB (D) 1024 ZB
fafafRea A ¥, #19 ufaR ulse &) Adde
Pl (key) & Sl YRR T 1SS Usic B o
HES Pl B2

(A) F5 (B) F4

(C) F1 (D) F7

TSI H 7 3R 8 §ol & Ay ISP a4l (b
THY WR TP g1 I 3@T H g4t dAfb- uh
1Y g1 ghlR?

(A) 7 IR 20 fe |
(B)7W7%ﬁ=ﬁfﬁ

(C) 7 SR 5 THAC |
(D)7W5%ﬁl¢|€ﬁ
JAR" Ve P I fade 8.

(A) Iq+TRTT (B) 3T TRT
(C) I=T + 30T (D) I=: + 0T
‘wal ISl T fhy) SawR | Hafta g2
ﬁ@fmwgaaﬁmiﬁl
(A) st (B) fdarg
(C) TaRH (D) BIeit
el BT Siia- guiid ol JSTRATHT YT § ST
TU T IUTH 8, PEATAT Breveerrvecnnrnnes
(A) TafBT (B) gTaTdd
(C) TR=H D)ard
(A)‘a'w B RR

(D) AT
ﬁ%ﬁ%ﬁa@qhmmm%ﬂﬁ
gOIT UT?
(A JTET (B) ¥H
(C) HRd EIE
HRA # AP Qo fGaw S A=t oI &2
(A) 25 3T (B) 29 31T
(C) 21 3T (D) 23 3T
fafafRaA A ®= 98 URT Acd * THS
TP & AP 87
(A e dareor (B) 31f¥d T8
(C) Ty Rig (D) TH. STORIHR

CH;COOC,H; + H,0 — CH;COOH + C;HsOH
SR & 78 fifrar A w9 91 e "
IS B HiTd PTA Pl &2

(A) CH;COOH (B) C;HsOH

(C) CH3COOC,Hs (D) H,0

121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

Page - 10
Zn + CuSO,4— ZnSO, + Cu

SW & i § o sifrfigd 81 w1 &
(A) Cu (B) CuS0,

(C) Zn (D) ZnSO.

PO UTGE oA | g AT €, FIfDb :-

(A) 31 U¥TT &hd oid 4 HH §IdT §

(B) IHT SHHF oict § 3 i &

(C) SH] g9 od I 31 Bl &

(D) 3T I-cd 3 ¥ HH Bidl &

YR JfAUTT BT B A1 ST T T
it & Hdadl BT qui HedT 82

(A) 3T=5G 164 (B) 3{I=5¢ 165

(C) 3G 162 (D) 167
UTgl IS UR 3R HedT Jffd &1
RIeiven & IR H 3T HUF BT IU B:
(A) TF It 3R Tg & & forg e o1 3mRequr
IAD! SHEBAT & 3MYR TR

(B) Uit I1ST HTHS H ISHidd gall &l Udd
TR W YFfeR)

() i v I & wH WR fgadia
AR AT

(D) Tfe Ut Tyttt &1 ferspHuT fosat Sirar
8, A U 98 & R g1 BRI ST A1y |
Fafifaa § v &1 s o= 2-

(A) T (B) i

(C) 3fa (D) 3™
IAPTYP TP e '3 1 FAgfefaa A
SI-91 TS 3 781 32

(A) g (B) 37eTTT

(C) =T (D) favur

or w31 1 gdaH @) faxiudr 94918 9, 98
HEaAdl &-

(A) forafa=ivo (B) TS fa=rwoT
(C) fa=iwmT . (D) favly

(A) IBH (B) HRR

() fema DEDE
Frafafead # 3 ad+ goa 9 3-

a. fyfa b.'&"Wf

c. 3mefiafe d. graf

e. &g

1 fau e fawedi # & waifue Iuge 3R
gie:

(A)c d e (B) b, d, e

Qacd (D) b, ¢, d

frafetaa & ‘Corrigendum’ 37 fag SUgad
=t << &-

oait ufaapit udtemsit eq Yeld cifi of eecidel g & el decayuf Uil of cTeeeie &c Higd
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131.

132. "

133.

134.

135.

136.

137.

138.

139.

(A) 3ITSY (B) {1

©) gfauA (D) URUA

fFufafad § o149 e WerR ua g1

(A) T (B) OR=T 1=

(C) T I (OAELELEE]

e & S §-

(A) 3 (B) 8ig

(C) o (D) I

"GRI & IUBR &I - WA 911 * & fag uo

T &-

(A) pard (B) Pl

(C) Pav (D) B

agﬁlaﬁasﬁllﬁgﬁﬁaaﬂﬁq

T -1 (GRTR) -1 (3rdh)

a. g THHT TP AT 1. WTgRiS SRE ST

b. TS SIUAT .o ufeeyd o1

C. 9 WR WaHT 1.4 a1 XGAT

d.STg JEAT IV. 3THH S 91
AT

;n;rqﬁqwﬁm‘fﬁﬁwmmw

(A) a-lll, b-1, c-ll, d-IV
(B) a-1l, b-1, c- 1ll, d - IV
(Q) a-1,b-1V, c-Il, d-1l
(D) a-ll, b-lll, c-1, d-IV

'IST 1 IGAT YeTax &1 Tel 31 8-

(A) T TG ARAT (B) ST GR BT
(C) P HFWRATGT (D) =

TR & d8d 4D Bl 39 HIH & U
ToIgR! UM B *qAaH TG ATHT T 32
(A) I IIE (B) T HeIHT

(C) T I (D)UsE fad

YRT & I TS JIaR YT HT 14 Jd1e it
o5 Torey o Ry 22 A O @ 9as suge
e g1

(A) HSAT IR Ulh~ (B) AR TIeR UTeh
(C)TRHT IR UG (D) UMANTEG FIaR UTh
I TY IR T ot wu1a=T1 g adf
gs 4

(A) 1961 (B) 1967

(C) 1947 (D) 1951

M IR 9y fFafafea 9 3 fea adt w
T T 82

(A) T (B) AT

(C) THer (D) JTERH<

140.

141.

142.

143.

144.

145.

146.

147.

3HRHCP Yad Juit § e el Afear
g} fezmelf # ag<t @ o) Fufifaa 4 4 fea
UPR P oI 3UATE o UfdSURT IS0 22
(A) GATH D

(C) STeiIAT

fFrafafad 4 9«14 91 sraee S' wi
UTYT Y TS g1 IR | A daad 19T § giafda
I ST 32

(A) STHUR (B) PEIR

(C) 3EeR (D) HUTFER
TWHARBFTEOITR..ccocnn

(A) BWR R SRR Uieidbid

(B) BTIUR CRC TR HIcIbicl

(C) BRR ¢ IR UIcIdbld

(D) BIUUR ¢RE oI d Ulcidid

TR 1 T4 8T ARR® I5I9 FRAHH
fav $fear 2024' waT smafora fear mamur
(A) G5 (B) BeRISTE

(C) DIt (D) TGS

Choose the most appropriate option to fill
in the blank:

By tomorrow afternoon, the plane carrying
medicines for war victims.........ccccceevueuenens
off for Ukraine

(A) will have taken (B) takes

(C) will take (D) will be taking
Choose the most appropriate passive form
of the given sentence:

People must not leave bicycles in the hall.
(A) The bicycles are not to be left in the hall by
the people.

(B) The hall must not have any bicycles of
people.

(C) Nobody should leave bicycles in the hall,
(D) Bicycles must not be left in the hall.
Choose the most appropriate option to fill
in the blanks:

It was ...ccoceerennnnnnne. windy morning but
they still hired .................... boat and went
1o ] coast.

(A) the, x, x, the (B) a, a, a, the

Q) a, x, a, the (D) the, a, x, a

R BT I I 3T 1T YHI= A7 a9 I
qadT & 91¢ gfe e & v ve fig w?
TG 811 8 O $9 UPR & oXT QI Bt
$gT STl &: .

(A) SRTGRGRIaT (B) 3ifeigahd

oait ufaapit udtemsit eq Yeld cifi of eecidel g & el decayuf Uil of cTeeeie &c Higd
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148.

149.

150.

(C) AT a1 e EE

(D) BTEURHITT T g EfPely

TP axg B 15 I} ashar Brear arat sradd
<0 &% I 30 At G W@ S @ <
g4 qrer yfafda ghm:

(A) AT (FST), MU 3R e

(B) A% & SRIER, AIKIAd 3R el

(C) 3Mafdfd (@sT), IRl 3R Ieel

(D) BleT, IRdfdP 3R Jeel

YRA B Ugell TR AuU=mmern 3 g4 gudt &
Tiqeg fag L1 & ar &q 3Ry &1 A4k

(A) FdeR 07, 2023 B) fadsR 01, 2023
(C) SFA™Y 25, 2024 (D) RrdeR 02, 2023
Tgar-3 feE & Ji g (yauen $31 & fou
IR ( ISRO) T JhATHS gd! foue &
g B9 91 &2

(A) GSLV MK3 (B). GSLV

(C) LVM3-M4 (D) GSLV MK2

oait ufaapit udtemsit eq Yeld cifi of eecidel g & el decayuf Uil of cTeeeie &c Higd
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